Problem 19
Find the correct graph.
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Problem 20
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Problem 29
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Problem 30
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Problem 42
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Problem 47

Different interest rates. Mrs. Brighton invested $30,000 and received a total of 2,300 in interested. If she invested part of the money at 10% and the remainder at 5%, then how much did she invest at each rate?
Problem 41

Nickels and Dimes. Winborne has 35 coins consisting of dimes and nickels. If the value of his coins is $3.30, then how many of each type does he have?

Problem 18 Graph each system of inequalities
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Problem 39 Graph
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